Kb oghds =#
No |width| High | fac [PorPL| Ef&EA | h(L) | Ah

1 0.25 1 1 0.2500 1 0.25| PLL

05 ] 025 | 05 1 0.0625| 0.667| 0.0417| PLL

1 0.5 [ 0.124 | 0.0620 -1| -0.062| RbLL

1 1 [0.167| 0.1670 -1| -0.167| MbL

O |W[IN|F

0.5 1 1 |0.167| 0.0835| -0.5| -0.042] MbL

Total 0.0209

Ans:b B2 £ 4 6=1 A=%2=(0.0209) PLVEI

HERER L AP R T, - B4 o B § 4 S
CE RIS ORE, FIF SR A RE, APL SR RER

5.

—> G|4L 6.6-3 3 L Fig.6-16, fa B2 s w0
R AEH_ 2015 & 2 A BT Y AT

| e
79_(.‘ 79_[}

| | | |

I G| | 1

10m 10m 20m

Fig.6-16
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f#:

(D)3 it F ff 1 & R BLE Fig.6-18(a), F A BT
& R 45 Fig.6-18(b), §*EEM] Fig.6-18(c). HH L1 AR# 7 %,

CELipfH & 0 R, A5 7

H g 5E2 $HEER.

- %% 5. Fig.6-18(d)(e) -

L L L L
e w ‘ - - ‘
y :JP ?—H—Ad s> @ P:) \%
WQT 77% M%
@ k) °
PL/4=150  wl78=50
a 1 . c 42 d
M; 7%
© M
a 1/\93 d
Fig.6-19 A %55 %

6-17



() A A s M C BhAp 41 £ =0

Ah

No. | & ## A % h
1 | 150x20x1/2=1500 -1/2 -750

2 | 50x20x2/3=666.67 -1/2 -333.33
3 | ML/2 2/3 ML/3

4 | M2 2/3 ML/3

(2/3)ML+(-750-333.33)=0
M=81.25

@ *koa

ROF AR ik & P B #2056 &)

No Width | Length | factor

WAt A

=

% h

Ah

1

1500

0.5

750

3 20 81.25 0.5

812.5

-0.33333

-270.833

Ans: ©a=479.17/El
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total

479.1667




L L ; L
- Pr el
wi2 |P2 |wi2 w2 | P2
+
L. L ‘ L
F&mﬂ "B
R ?T—TQL ~ ﬁé (e)
2
wi2 P2 W
Fig.6-20

HALSAR ), 2 AR A T R S SRS A
g, 7 R ] G0 Fig 6-20(e)% 3 4 L. Fig 6
20[)% % - B R P R Y- EAMMAd B S
LA A e B AR SR RS

F Fig.6-20(d)(e)2- $* sE®], 1 * F# » k2 )T}‘;;E dh B g
il & 1 Fig.6-20(c)4 B LA R, 117 ¥ - 6 fEERIL,
Pt ST G AOR TR, B S e AR, R G
=5 8144 5E:, Fig.6-20(c) 4 + 7]

6-19



—> |4 6.6-4
FI#* FiQ.6-20 2. i 4c F & fFEERILA R 38
)42 6.6-3
L=20m  P=30kN  w=1kN/m
f#:
o ffEEH - ¥IZ4* ac ZHE % R mw,mp
WL?/16XLx2/3xL/2=mw XL/2x2L/3 ‘ wl/16
m=wL’/16 8 c
PL/8XL/2XL/2=mpxL/2x2L/3 mw
mp=3PL/32 ‘ PL/8
I* & fE% - TILROa a >~ .
(1) Fig.6-20(d) @) ' mp
©al=[(wWL’/16xLx2/3+PL/8xL/2)-
(WL*/16xL/2+3PL/32xL/2)]/El=
[1wL’/96+PL°/64]/El

(2)Fig.6-20(e) B, 144

©a2=(PL/8xL/2/2- wL’/16xL/2x2/3)/El=[- wL/48+
PL?*/32]/EI

G=0altHa2

=[3PL*/64- wL’/96]/EI

L=20m  P=30kN  w=1kN/m # »

0 =479.17/El

FI* o EETIRY S HH.
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